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Topic:- Grad_Nutrition and Health

1) The tool to disinfected syringes and needles use for vaccination is called-/ NpTHIu & ﬁl‘l'{
g ifYe vd gEat & fausiia $37 $T IUH0T Heardar @ -

1. Autoclave/ 3ficiaid
2. Homogenizer/ HEISEIEER

3. Centrifuse/ 1w
4. Socslate/ TiRITE

Correct Answer :-

o Autoclave/ 3Nclaad

2) The enzyme found in Saliva in the mouth is:/ HTs’Hﬁ R § YR 9 9ret WET[% -

1. Amylase/Q'J:ITs'aTrT
2. Lactase/@ﬂ%ﬁr

3. Sucrase/ﬁ%
4. Tyleen/crafeH

Correct Answer :-

. Tyleen/crafed

3) How much is the grant amount given to destitute children in destitute child home scheme?/

R sTene giemr | fAR1f3a 9=t @1 § M arelt srger iR fa @2
1. 400 Rupee/400 =T

2. 300 Rupee/300 &0



3. 350 Rupee/350 &0

4. 250 Rupee/250 U

Correct Answer :-

« 250 Rupee/250 &0

4) The triple antigen vaccine is detached in:/ fiq?r E?"IT:F-[ FERSHICIES G % -
1. In Polio/diferal #

2. In T.B./qufds &

3. In infection diseases/IhTH® I H

4. In Hooping cough/ @Tett @it &

Correct Answer :-

« In Hooping cough/ &Telt @it &

5) Blood clot occurs in the presence of which vitamin:/ Y& &1 Y&PpT B9 A faerfeq #1 SufRufa &
gAATE -

1. Vitamin — K/ fae1®q - K
2. Vitamin - E/ fdeif= - E
3. Vitamin - D/ faeif@= - D
4. Vitamin - C/ faetf - ¢

Correct Answer :-

e Vitamin — K/ faei®= - K

6) What is called the High blood pressure, swelling and discharge of protein in urine, in

pregnancy?/ THIGRIT & 3= IaaTY, oI T4 G H W o7 fsh R 391 1 dgardan @ -
1. Diabetes/ Hiﬁ's'

2. Pregnancy Poisoning/ TTHfa®T &t fawTaar

3. Both of the above/JURIa Gt

4. None of these/3TH ¥ B gl

Correct Answer :-

« Pregnancy Poisoning/ TTHIGET &1 fasTarar

7) Which of the following is not beneficial ICDS?/ fog & ¥ $19 s, . )., & arwnf<al # =8 82
1. Pregnant women'’s/ T¥acht ferat



2. Lactatic mothers/ Y AR
3. Teen girls/ SR Ifcipr

4. Childrens above 6 years/6 WA FIWR P 5=

Correct Answer :-

« Childrens above 6 years/6 8 ¥ SR &

8) Structural unit of protein is-/ PIGEKAREEIGCY E'Tﬂi e
1. Fatty Acid/ 991T 3t

2. Amino Acid/ 3T 3%

3. Gelatin/ foreict=

4. None of these/ 378 q ®Is Tal

Correct Answer :-

« Amino Acid/ 3T 37

9) Deficiency of Vitamin—C is: / faeTfir—C &} % 3 giar @:
1. Beri-Beri/si-ot

2. Scurvy/Eo_cﬁ

3. Rickets/Rabcd

4. Night Blindness/ceft

Correct Answer :-

. Scurvy/EoTSﬁ

10) Cretinism in children is a deficiency of:/ @i & Hfef-oq ¢@T AT § -
1. Iodine/ SIS 1 HHI ¥

2. Iron/ TIg TG0 &1 HHI A

3. Potassium/ IR &1 HH! 4

4. Magnesium/ BREH &t HH

Correct Answer :-

« Iodine/ 3MAISH P HH I

11) Deficiency disease of Vitamin—C is: / faerfiq—-c @t & ¥ g arer AT %—
1. Scurvy/@lﬁf



2. Beri-Beri/@ﬂ-éﬂ
3. Night BIindness/Tc?f‘?ﬁ
4. None of these/stl'ﬁf I ﬁ'sc T8l

Correct Answer :-

. Scurvy/F:b_qnf

12) Which disease is for the treatment of DOT's?/3TcH (DOT's) f&d I & IR & ford 82

1. Measles/TIR0
2. Malaria/ﬁﬁﬁm

3. Cholera/gwT
4, T.B./A&

Correct Answer :-

. T.B/AS

13) Jaundice is transmitted by whom?/ Giferar 371 f&ad gr1 yaRa gian & -
1. Air/ a1

2. Water/ SId

3. Sunlight/ &

4. Soil/ Hal
Correct Answer :-

o Water/ oid

14) Which of the following vaccine is given to the pregnant women?/f 4 #q o1 A aRw=
Mgt afger & § S 22

1. Tetanus/feeTg

2. DPT/SLULEN,

3. OPV/3. UL,

4. All of these/SURIeRT THT

Correct Answer :-

. Tetanus/iéé:m

15) How many tablets of iron folic acid carte given to the women during pregnancy?/ THIGRT &
SR Afgar &) mRA Bifee viys &t feae miferar & s 872



1. 1000
2. 900
3. 100

4.10

Correct Answer :-

« 100

16) Which is the nutrient that provides energy to our body?/ AR TR & Sl UG B arer
TIY® o DI AT 82

1. Carbohydratelmﬁ?;?

2. Fat/ 941
3. Both of the above/G'ClﬁTﬁ G|
4. None of these/%zl'ﬁf T ﬁ'sc gl

Correct Answer :-

« Both of the above/IURIad GHl

17) The method of growing nutrients is-/ UIY® dcd 911 &1 TP fafy ?
1. Sprouting/3{&HRUT

2. Boiling/3dIeA T

3. Grinding/deT

4. Soaking/IIIcT bRAT

Correct Answer :-

« Sprouting/3{H 0T

18) The weight of a healthy and well fed mother's child will be-/ X} 3R uIftra arar & RUgy &1
oI faqr grm -

1. 3.5 Kg./3.5 fab. 7.
2. 4.5 Kg./4.5 f&.71.
3. 2.5 Kg./2.5 f&.71.

4. 2.0 Kg./2.0 fa.m.

Correct Answer :-

« 3.5Kg./3.5 fob.7.



19) What is the risk of vitamin - K deficiency in pregnant mother's diet?/ fadt arer & MR A
et - K 3t w1t A st @ 8 awHd 22

1. Under-weight infant/ &8 aoi- &1 fRIg]

2. Bleeding in infant/ =Taid fRIg] & Yadwd1d
3. Breathing problem/ Xa& Ta et TR
4. Low oxygen/ 3iTeRITST & HHT

Correct Answer :-

« Bleeding in infant/ FITd fRIY] T IacRad

20) If the quantity of nitrogen produced by food through the protein is greater that the quantity
emitted is called:/ WIS & GRT WEH & AN | Ao B1 Al T3 AT Saford WET A fU® gt at

PEATAT @ :

1. Positive Nitrogen Balance/ YD TS HdeH
2. Negative Nitrogen Balance/ Ul & :IT'S'@TYFI B (SE]
3. Nitrogen Balance/ATgc o JerH

4. None of these/3TH ¥ B gl

Correct Answer :-

« Positive Nitrogen Balance/Y-Td® AS¢o Jda

21) Enzymes supporting digestion of carbohydrates is-/ P & U H TeAD UIIgH %:
1. Maltese/ Hlees

2. Suches/ W

3. Both of the above/G“lﬁTﬁ ALl

4. None of these/3TH J ®13 gl

Correct Answer :-

« Both of the above/IURIad aHl

22) Deficiency disease of Platelets is:/ lﬂ'c’azﬁ P HW A AT Bl B-

1. Dia betes/q?{ﬁ'e'

2. Dengue/ST]
3. Cholera/gsTl
4. Malaria/maifar

Correct Answer :-

+ Dengue/37]



23) The main remedy for preventing infection diseases is-/ JhTHD A A FE1G BT I U™y g-
1. Morning walk/ UTd: <gd-l

2. Sit in the Sun/ 40 H ST

3. Take nutritious diet/ W 3HIBR Gl

4. Vaccination/ & TRTGHT

Correct Answer :-

« Vaccination/ ¢ids TIGHT

24) Main ingredient in the formation of thyroxin hormone is-/ YTRTfR ETFITT-T & fmfor &1 Ty
TP ¢ -

1. Sulphur/deth]

2. Iodine/&@%ﬂ:{

3. Magnesium/a3fRH
4. ChIorine/ElEﬁﬂ:r

Correct Answer :-

« Iodine/3MAEH

25) deficiency of the brain causes brain cells to lose-/ P it F MRy ﬁﬁ{[ &
AR Bt HIRGH T € et § -

1. Protein/WicH
2. Vitamin/faeii=
3. Minerals/‘@ﬁ\_rf

4. Fat/adl

Correct Answer :-

« Vitamin/fdeTe

26) Which of the following Genetic disease is:/ fadad oA Glﬂmﬁﬁ? T %:
1. Hooping cough/ CANIRGIR]

2. Hemophilia/ gramifern

3. Aneamia/ Q‘ﬂﬁtﬂ

4. Plague/ W

Correct Answer :-



« Hemophilia/ gTHTIferam

27) Essential element of hemoglobin is-/ﬁtﬁ"?ﬁﬁ:{ DT AHTAGP dcd % -
1. Calcium/%@ﬂm

2. Iron/3TORA

3. Iodine/\HTEﬁ?ﬂ:r

4, Potassiumfcﬁéﬁrq'q

Correct Answer :-

28) The disease caused by malnutrition is:/ §7Cﬁ'lS|'UT ¥ HRUI A a1dT INT %—
1. Kwashiorkor/ BIRIRDBY

2. T.B./ &

3. Typhoid/ <AWIIS

4. None of these/ 375 ¥ P15 g1

Correct Answer :-

o Kwashiorkor/ & SARB

29) The main function of carbohydrate is:/ T:Fﬁﬁé'ﬁ%‘c’ CaRICC! o 3:
1. Growth and Development/ ?{@ T faerg

2. Give energy/ 39l Ua Bl

3. Generating resistant capacity/ AT UfoRIY® &dT S HAT

4. None of these/ 378 q ®Is Tal

Correct Answer :-

» Give energy/ 3T UeM HRAT

30) How much protein required for adult women?/ T&% 9O3% Hfgel &1 M &) smawgedr fea-t

??

1. 55 gram per day/55 9™ UfdfeT
2. 70 gram per day/70 9™ gfafes
3. 65 gram per day/65 I HfafeT

4. 75 gram per day/75 U ufafeA

Correct Answer :-



« 55 gram per day/55 T Hfdfa

31) Requirement of iron for pregnant women is-/ THad Tt & /A A 9@ F} MaRTS AT 8-
1. 38 Mg./Day/38 fa.am./fa=
2. 26 Mg./Day/26 f&.31m./e=
3. 44 Mg./Day/44 fr.3m./fe=

4. 45 Mg./Day/45 f.am/fea

Correct Answer :-

« 38 Mg./Day/38 &1.311./f/aH

32) The disease spread by Air is:/ 91 gRT % arer 9T %:
1. Cholera/ %GIT

2. Chicken Pox/ ISP

3. Plague/ T

4. Rickets/ Rdcq

Correct Answer :-

« Chicken Pox/ Td&

33) In which year the national Health policy was approved by the Government of India?/ HRd
PR RT AP FRA i BT SrFHe foa o A far mare

1. 1983
2.1978
3.1975

4. 1980

Correct Answer :-

e 1983

34) Vaccine of which disease is not available?/%d R &1 o1 Iuasy 781 82
1. Dengue/ S

2. Measles/ WIRT

3. T.B./ dldl.

4. Hooper Cough/ ®Tcil @it

Correct Answer :-



» Dengue/ @11

35) Transportation treatment plan for delivery is available to:/ UHd %ﬂ tlﬁﬂ?:r IUIR IS T
I B

1. Only for women’s/ ddd A3 8

2. Only women of SC/ST/ ohad TH.¢1. / T. 41, Afgansii &g
3. Only women of OBC/ dhad fUer avf Hfgansii g

4. For women and children/ Afgasf Td a=di &g

Correct Answer :-

« Only women of SC/ST/ %ad TH.<Y. / 9.1, Afgarsif gq

36) Which vitamin is obtained from sunlight?/ {0 & IJ& & 14 A1 faeTfiq urd ghar 82
1. Vitamin-D/fdeTf&=-D
2. Vitamin—C/fdeif@=-C
3. Vitamin-A/fdei@=-A
4. Vitamin—K/faerfi-A

Correct Answer :-

« Vitamin-D/fdeii=-D

37) When the Deendayal Antyodaya Treatment Scheme was started in the state?/ ITo4 |

SFeaTd ey SUER Aol $d URYH P TE 2
1. 15 September 2006/15 fidsR 2006 o
2. 26 September 2004/25 RidaR 2004 &
3. 25 September 2008/25 RidsR 2008 H

4. 15 September 2003/15 R¥daR 2003 H#

Correct Answer :-

« 26 September 2004/25 Ryd&R 2004 #

38) Rota-virus vaccine prevents from the disease:/ﬁET TRy o1 9§ 9 5w St & seme
PRATS :

1. Cholera/ %Trﬂ

2. Diarrhea/ @&

3. Skin disease/ 1IN

4. None of these/ 3:1'!3[ I ﬁ'&f T8l



Correct Answer :-

e Diarrhea/ qd

39) The age group of girls benefiting from the 'Rashtriya Kishori Shakti Yojana'-/ ?T@TI =t
TRt TS A ArUTId 819 arelt arferepTai &1 3y it @ -

1. 11-18 Year/11-18 9§
2. 5-12 Year/5-12 9§
3. 6-14 Year/6-14 9§

4. 10-15 Year/10-15 99

Correct Answer :-

« 11-18 Year/11-18 a§

40) Which disease causes women's waist to bend?/m I & RO TG B FR EiLd STt %?
1. Marasmus/ IR

2. Osteomalacia/ SfeaHaRmar

3. Kwashiorkor/ HIRARB

4. None of these/ sﬂﬁ I ﬁé gl

Correct Answer :-

« Osteomalacia/ 3R RRT

41) Main function of iron is-/Eﬁ's’ QU T =T Caui %—
1. Transport of Oxygen/3fTaRiTST &1 URdg

2. Transport of Hydrogen/8T8SIoI &1 URag-

3. Transport of Protein/J1eHH &1 uRagH

4. None of these/3TH O P gl

Correct Answer :-

« Transport of Oxygen/3fidio &1 aRdgd

42) The vaccine which is given by mouth is: /9 ¥ fear s aran d&1 ?:
1. Polio/difcral

2. B.C.G./d. LS.

3. Hepatitis/gUcrgicd

4. None of these/3 0 q ®Is gl



Correct Answer :-

. PoIio[CﬁﬁRff

43) Which part of the body is affected in Jaundice?/ Wiferar A1 & IR &1 H19 A1 37T yHIfaT gYar
?

1. Liver/ 9d
2. Kidney/ T

3. Intestine/ 3fid

4. Pancreas/ HRY

Correct Answer :-

o Liver/ dd

44) Which of the following is not a common symptom of pregnancy?/ g # | mufawr &1 9w

&IoT 7Y 82
1. Frequent Urination/SR-8R U= 3T
2. Vomiting/3fecat gHT

3. Dizziness/ddh AT
4. Feel embryo's heartbeats/i;]gUT P ?K‘sﬁ ﬁﬂ]’s‘ ol

Correct Answer :-

e Dizziness/dadh AHHI

45) Vitamin affecting fertility is:/US &l Y YHTFAT H arer faeri™e 8:
1. Vitamin — E/fdeT® - E

2. Vitamin — ¢/fde1f®a - C

3. Vitamin — A/fde1®T - A

4. Vitamin — D/fdei®= - D

Correct Answer :-

e Vitamin — E/fdeifia - E

46) Factors which are responsible for malnutrition is:/ $UIYUI 8¢ RER $RS F1 8-
1. Poverty/ fRefar

2. llliteracy/ 33T

3. More population/ 3ff& SRS



4. All of these/ SURIad Tt

Correct Answer :-

o All of these/ IURNad g+

47) Night blindness is the deficiencyof ____ /T AMe U __ #iwW g e -
1. Vitamin—A/fdeTi#-A

2. Vitamin—C/faeTi-C

3. Vitamin-D/fde1®=-D

4. None of these/ 378 § I -Tg!

Correct Answer :-

« Vitamin-A/fdeTi=-A

48) Goiter is a deficiency of-/ Y91 INT fFy da T HH J BT 8-
1. Iron/3TERA

2. Vitamin—A/faeTi-A

3. Zinc/ Ni&

4. Todine/ SISH

Correct Answer :-

« Iodine/ 3MAISH

49) The National institute of infection disease is located in-/ ITPTT HHTHS I HRIH Hai R &
1. New Delhi/ =T f&edl

2. Lucknow/ 9813

3. Chandigarh/ El?ﬁ“‘l’é

4. Bhopal/ T

Correct Answer :-

« New Delhi/ 75 faceit

50) Polio virus nourishes in which organ of human body?/tﬁ'[%l'q‘r L) ﬁ'ﬂlTUj I ¥ fHg 3 # oy
FHRa1 32

1. Intestine/3fid |
2. Kidney/fdra-t &

3. Blood/3ad H



4, Longs/ﬁﬂ?b% A

Correct Answer :-

o Intestine/37id H

51) Body weight of women in pregnancy-/'lT'l-I'hW o ufgar &1 IRINS aor-
1. Should Increase/de-Tl ElIHY

2. Should Decrease/‘EIE?ﬂ%IT%E

3. Should stable/fRR g1 =feT

4. None of these/ sﬂﬁ q @é T8l

Correct Answer :-

« Should Increase/dg- AT

52) What is Balance diet?/ Sgferd 3MeR f$a wgd 7?2

1. Which contains the right food items/ fSraH 3fera @ uenf &1 gHRw §

2. In which all the nutrients are in the proper proportion/ fored Tt Tive da Ifad srura & &f
3. Which is digestive, attractive and interesting/ JaTed, HTHYH T FADR &1

4. All of these/ IURIeT T4

Correct Answer :-

o All of these/ SURIad G+t

53) Diabetes occurs in pregnancy is caIIed-/lT'l-thIT i Eﬁe{ CIG]H nqﬁ'e' DHodldl % -
1. Juvenile diabetes/Sa-Tgd AYHT

2. Gestational diabetes/@@QFIFT U%ﬂ'@’

3. Type - I diabetes/cIgU | I{ﬂ'ﬁ'&'

4. Type -1I diabetes/TT3U || AYHT

Correct Answer :-

« Gestational diabetes/SReFd HYHT

54) Deficiency of calcium is:/ FfRmm St FH I B4 arelt A %:
1. Osteomalacia/SIReTHARMT

2. Osteoporosis/&mlﬂﬁﬁm

3. Both of the above/G“lﬁTﬁ G|



4. None of these/stl'ﬁf I ﬁ'{f :Eﬁ

Correct Answer :-

« Both of the above/IURIad GHl

55) The disease spread by viruses is:/ ﬁ'qTU]Gﬁ RT Hem arell fart S @ %:

1. Typhoid/c—AWIgS
2. Malaria/ﬁﬁﬁtﬂ

3. Flue/U,
4. None of these/szl'ﬁf J ﬁ"iﬁ 8l

Correct Answer :-

Topic:- Grad_General Knowledge and Logical Ability

1) Which Act gives protection to women from being kidnapped and

compelled to become prostitutes?/ S-IT fufraw Afgarsi  srugd fpe &+ wa
AT WR e fpe oA & e gRam a1 22

1. The Criminal Law Amendment/ MR fafdr denem

2. The Family Court Act/ $¢H arATed e

3. The Indecent Representation of Women Act/ Afgarsfi &1 Y% FHeuur ffad
4. The Immoral Traffic Prevention Act/ ﬁ%%wﬁﬁﬂ&m

Correct Answer :-

« The Immoral Traffic Prevention Act/ &ﬁwmﬁffﬂ&@ﬁﬁﬁ

2) Green revolution in the 1960s was associated with: /1960 %Wﬁf{s‘%ﬁﬂ
P I g At

1. Use of HYV seeds/HYV diSll & SUaRT

2. Milk production/ gi¥ 3l

3. Fisheries development/ AN fawr
4. None of the above/ SWRIdd H I HIg el

Correct Answer :-

« Use of HYV seeds/HYV &Sl & ST



3) Agricultural Technology Information Centre (ATIC) has started
functioning from / $Y WS @1 F% (ATIC) B YFTd fFa ad ot 75 A

1. 1998
2. 1999
3. 2000
4. 2001

Correct Answer :-

- 2001

4) The 73'9 amendment act of Panchayati raj was done in:/ Tl I
Sffray o 7391 A=Y 59 a9 fpar T oT:

1.1991
2. 1992
3. 1993

4. 1994

Correct Answer :-

« 1992

5) Fertilization of ova in humans takes place in:/ A} # 38 HIF®HT BT U= H glar 8:
1. Ovary/3SRIE

2. Vagina/Zﬁﬁ

3. Fallopian tube/ﬁv_c'ﬁﬁ?ﬂ EINGR

4. Uterus/THIR

Correct Answer :-

 Fallopian tube/ﬁ'ﬁﬁﬁq:[ BINED

6) How many types of digital computers are there?/ f&fSea e fFan oR F 8d 32
1. Two/ &

2. Three/ diF

3. Four/ 9R

4. Five/ Uid

Correct Answer :-



7) Which among the following scheme provides scholarships to persons with
disabilities to pursue higher education such as MPhil and PhD?/ Eﬁﬁﬁ?—?ﬁ

Qo1 feaaiTel & Taftrd vd freast st Swaz fRiem R & fore smgfai S 32

1. Scheme of National Scholarship for Persons with Disabilities/ f&aaiTTe IS BRI
BISE

2. Comprehensive Education Scheme for Disabled Children/ f&aiT STad| g STde® fRiaf
BISEI

3. Rajiv Gandhi National Fellowship Scheme/ WW@W@HH@H@% (eb_cﬁﬁlt[)?ﬂw

4. Inclusive Education for the Disabled at Secondary Stage/ fgdia® aey ¥ feagiroHt
HSCICRIREE]

Correct Answer :-

« Rajiv Gandhi National Fellowship Scheme/ WW@W@HH@H@% (av_cﬁﬁlt[)?ﬂ\_ﬁﬂ

8) Pointing to a woman, a man said, “"Her husband’s mother is the wife of my
father’s only son”. How is the man related to that woman?/U& Afgdl &1 UR=g
FRTd G TP YW A Fgl “ITP Ufd &t 11, A% a1 & THa [ 3t uell 317 39 (39 &7 39
afgen & war way 32

1. Father / foan
2. Brother-in-law/dTell
3. Uncle /dT=l

4. Father-in-law/3ddx

Correct Answer :-

« Father-in-law/dJX

9) Which of the following hormone is also known as “the emergency hormone”?/ 374 & f&d
"HTUTABTA T g W 8T SIraT 82

1. Thyroxine/ YRR
2. Gonad stimulating hormone/ THE WA gEH

3. Adrenalin/ Qg qfer
4, Estrogen/QRj\_rFr

Correct Answer :-

« Adrenalin/ TgIHfcH



10) SGSY is a scheme for the:/ SGSY ST 379 R 8:
1. Infants/ QRI

2. Farmer/ foo ™

3. Women/ Afgarg

4. Poor People/ﬂ'ﬁ‘q’ S|

Correct Answer :-

« Poor People/TRIg 51

11) ‘Ctrl + V' depicts:/ ‘Ctrl +V’ USRId HdI &:
1. Cut/ &<

2. Bold/ Sics

3. Paste/ U

4. Save/ ¥d

Correct Answer :-

e Paste/ U

12) The average of six numbers is 35. If each of the first three numbers is
increased by 3 and each of the remaining three numbers is decreased by 5,

then the new average is:/ B8 J@IT3{f &7 3d 35 &1 TS Ugelt 3 M A US| 3
Pt g B < AT 3R Ay i = ¥ e A 5 ger fau ot at = 3hud B:

1. 35
2.34
3.31

4. 30

Correct Answer :-

13) 18 women can complete a work in 12 days and 12 men can complete the
same work in 9 days. In how many days will 8 men and 8 women complete

that work?/ 18 AfRETE T &1 &t 12 faAT # [T HR THl & 3R 12 ToU A FrA A1 9
ol ® 1 % Gpd €] 8 YTV 3R 8 Hfgamt 3t w1 I fpam fel & 1 o2 g €2

1.9 days/ 9 f&A
2. 6 days/6 faT



3.12 days/12 f&q

4. 8 days/8 fad

Correct Answer :-
« 9 days/ 9faH

14) Which is the year for ‘The Declaration of the Rights of Child’/ -1 99
‘g1 fYPRY F) Ty’ &1 9y 32

1. 1967
2.1962
3. 1960
4. 1959

Correct Answer :-
« 1959

15) Genetic identity of a human male is determined by: /HIFd R @t Gﬂ?[aﬁﬁ? Ugdl+d gRT
Fruffea 1 &:

1. Autosomes/ 3feiTREA
2. Nucleolus/ Hf5aT

3. Cell organelles/&IRIGI
4. Sex chromosomes/ e UG

Correct Answer :-

« Sex chromosomes/fciT TUREAT

16) The Women Empowerment Year was celebrated in the year:/ g Iy Afgan
IRIfRIHR0T a4 & =9 H HHTIT 4T

1. 1991
2. 2001
3.1981

4.1971

Correct Answer :-

- 2001



17) The primary male sex hormones is: /31 R q= FTFITT-T %:
1. Lactase/ S S

2. Leptin/a@:f

3. Estrogens/URg 1o

4. Testosterone/ &I

Correct Answer :-

« Testosterone/ TR

18) DWCRA was started in the year:/ DWCRA ﬁ%ﬁaﬂ?{@" At
1.1982-83
2.1983-84
3. 1984-85
4. 1985-86

Correct Answer :-
« 1982-83

19) A bag contains Rs.1, 50-paise and 25-paise coins in the ratio of

4:5:6 respectively. If the total amount of money in the bag is Rs.32, find the
number of coins of one-rupee. / T& A # .1, 50 TV U1 25 9 & ad @) J@m
U 4:5:6 & JuTd ¥ 1 afe Aa A Fa RN 3. 32 1, Ot 3.1 & Ryl 3t w=m 719
Gfll?ﬂQI

1. 16
2.22
3.14

4. 18

Correct Answer :-

20) ATMA was envisaged in the year:/ 3T (ATMA) aﬁmmwaﬁﬁgﬁ:
1. 1996
2.1997
3.1998
4. 1999



Correct Answer :-

« 1997

21)

DIRECTIONS: In the question given below, there are few statements followed by
few conclusions. You have to take the given statements to be true even if they
seem to be at variance with commonly known facts and then decide which of the
given conclusion logically follow(s) from the given statements../

frd=n: < fou U w=a © 2 $YF 3R 3TF 91 7o fread fag e &1 smuwt fou eyl

DI T AT 8, HA & d Fdqra g I Fu=1 wefta gid gt | 9t fswut o1 ufe R g

gﬁmﬁﬁqwﬁwﬁﬁﬁﬁqmaﬁmwﬁmm%ﬂmawwm
|

Statements: /HY:

Some trains are trucks. / WWTI@ E%I

Some trucks are boats. /WEW%]

No boat is jeep./&ﬁ'scqﬁ\_rﬂ'q?tﬁ%l

Conclusions: /o

I. Some jeeps are trains./ $© iU YISt &

II. Some boats are trains./ WWW %

III. Some jeeps are trucks./ W\'rﬁ'qﬁ%

1. If only conclusion I follows /af %ad fAny 1 &WW%
2. If only conclusion II follows/3fc &ad FshY 11 WW%
3. If only conclusion III follows /aﬁmﬁﬁﬂf IIT RO Hdl

4. None follows/ 15 4 FJaRUI 78] Bl §
Correct Answer :-

« None follows/ @15 4 3FJaRUI 78] HxaT §

22) Aman and Suman start walking from the same office and walks in
opposite direction, each travelling 10 km. Aman then turns left and walks 10
km, while Suman turns right and walks 10 km. How far are they now from

each other?/ 3W 3R JHA T & wratay & fyuda fazm & g = w4 8,931k s
10 it Y & a9 Fxd 8| SUP 918 WA ¢ GSHe 10 fHft &Y &t a9 wwar g ,af®
U g1 geaw 10 et F gh au AT 3|3 I TP g A fpait gl R g 2

1. 0 kmy/0 fot
2.5 km/ 5 fpHT
3. 10 km/ 10 foHt



4. 20 km/20 foeT

Correct Answer :-

« 20 km/20 foHT

23) “Startup India” scheme was started in the year:/ "®&TI¢3U 31" e T &1
3 3rTd forey af g% i

1. 2012
2. 2013
3.2014

4, 2015

Correct Answer :-

« 2015

24) In MS Office, word processing is done in:/ THZH 3Tfpd 'l?f, ﬁ@‘\’lﬁi TIEH T fohgT et %:
1. MS-Word/ THTE-a8

2. MS-Excel/ THUH-TRA

3. MS-Access/ @WQ&@?

4. MS-PowerPoint/ THUY-UTER Wi

Correct Answer :-

« MS-Word/ THUH-TS

25) Which among the following happens when parts of the skin and tissues freeze due to low

temperature?/ $H dIUHM & R &1 $ HI 3R Hdd! & &9 o1 W T4 I 1 gId1 82
1. Frozen shoulder/ &1 SIh S ST

2. Frostbite/ JURGYT (ThIReHT3C)

3. Fever/ §9R

4. None of these/s:lfr I ﬁ's: =|3°T

Correct Answer :-
« Frostbite/ JURET (hICTIST)
26) The full form of NGO is:/ NGO ®T T -ITH g§:

1. Non-Governance Organization/ TR-GRBR} TITeA



2. New Governmental Ordinance/ TT IASH T TSR
3. Non-Governmental Organization/ IR-TRHTR} T3

4. New Governmental Organization/ T TR T3

Correct Answer :-

. Non-Governmental Organization/ TR-TGRGHR} T

27) Which of the following legislations is applied to the unorganized sector

workers in India?/ HRd ¥ 3RS &5 & Hifal & fre 399 | S19-11 ST arg gt
?

1. Minimum Wages Act/ =J7dd aa- ifafaq

2. Child Labour (Prohibition and Regulation Act), 1986/ aTd ¥ (Fy T fAow) sifeifam,
1986

3. Contract Labour (Regulation and Abolition Act), 1970/ 3faf=rd 91 (FTHH Ud I3 cH)
sifafad, 1970

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Iujad Tt

28) Which answer figure will complete the pattern of the question figure? /

e d ¥ i I 3R srpfa wy snpfa &t guf wvft?

A
A

4.

Correct Answer :-



29) Discrete data refers to:/ fafay siws) &1 < 3:
1.0, 1
2.1,2
3.2, 3

4.3, 4

Correct Answer :-

30) Six stages of moral development were proposed by:/ dfd® faera #1 ©:
SRITSM Bl = wrtad foar ur:

1. Martin Hoffman/H1¢ 8THAA
2. Jean Piaget/SiH fUaet

3. Sigmund Freud/RFTHS Wigs
4. Lawrence Kohlberg/aﬁT\E{aﬂW‘f

Correct Answer :-

« Lawrence Kohlberg/EﬁT\q GAER

31) A person has to reach a certain place at a certain time and he finds that
he will be 15 minutes late if he walks at 4 km/hr and 10 minute earlier, if he
walks at 6 km/hr. Find the distance he has to cover./@ﬁ4ﬁﬁ’ﬁﬂﬂﬁﬂ1‘ﬁ
¥ gerar g al 15 fiee ¢t | ugadar 81 R 99 98 6 forei/gier @Y e & =rerar 8 t 10 e
Ugd Ugd SITdT ¢ | SHS g1 Bt g3 F1d B

1. 3 km/3 ot
2. 4 km/4 Tt
3. 5 km/5 ot
4.6 km/6 foit

Correct Answer :-

« 5km/5 fHt



The computer which works on continuous data is:/ FRGR MBSl W HTH HIA €T HHLI Heardl

f

1. Digital Computer/ f&fSied Hegex
2. Hybrid Computer/ gT3fsg &R
3. Analog computer/ TTANT SR
4. Dell computer/ S& HHX

Correct Answer :-

« Analog computer/ TATANT HEEI

33) The society which facilitated setting up of grain banks in different

regions is:/ ﬁmaaa‘rﬁsméﬁﬁwwﬁwmwﬂ@m%

1. Amul (Gujarat)/ 3HcT (F[SIRId)
2. Academy of Development Science (Maharashtra)/ TbsHI 31t STaUHE ASY (HERTY)

3. Mother Dairy (DeIhi)/W@ﬂﬁ (faih)

4. None of the above/dui\lom e qv\lif:lﬁ

Correct Answer :-

« Academy of Development Science (Maharashtra)/ ThSH! 3Hh STATHC 1S9 (HERTY)

34) What is the cause of angina?/USIgHT (BTl H &<) BT FRUI HT &2

1. Insufficient blood reaching the Iungs/ﬁﬂﬁff q% ad AT AT | CRER]

2. Insufficient blood reaching the brain/ Af&TSh o Yad Suaid qET & IZIEEFH

3. Insufficient blood reaching the leg muscles/ TR o1 UfREl 9 Jaa srgafa e & LRER

4. Insufficient blood reaching the heart muscles/ §&d UMl d& Yad Srafed Amm o CREEI

Correct Answer :-
« Insufficient blood reaching the heart muscles/ gad ORIl T Iad o T & UgaT

35) DIRECTIONS: Find the missing number./fc=I: @ =1 10 He |

9 |12
7 |?

1.21



4. 14

Correct Answer :-

. 14

36) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / foda: frafafaa uy o usaras e ) &
TR T B AT HI T2

92 9% of 7500 + 50 % of 11000 — 1895=? / 7500 BT 92 % + 11000 T 50 % — 1895 =
?

1.10,870
2.9900
3.9200

4. 10,500

Correct Answer :-

37) Food security means: /3dT<l & BI GRf%:
1. Availability of food/HToH &1 ITeIdT

2. Accessibility of food/ YIS & FIRIAT/ gl

3. Affordability of food/ IS &1 fhwradt i

4. All of the above/ Iudad Jaft

Correct Answer :-

« All of the above/ Iudad g+t

38) In which part of the country, grain banks have been set up by the

NGOs? /3 & fFd YT # T IR IR (NGO) BRI 31 9 RTfUd fopu 7w 22

1. Gujarat/TSRId
2. Haryana/ R

3. Punjab/ USTd
4. Maharashtra/HgRTY
Correct Answer :-

« Maharashtra/HgRTY



39) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / fodar: frafafad uy o usars e ?) & R
TR THIT DI AT A T2

7441 =+ 34 x 12 =? x 9 + 110
1. 460
2. 280
3.520

4. 350

Correct Answer :-

« 280

40) ‘Digital India’ was implemented in the year:/ TsfSTea gfear ot IR=ama 59 ad
H g%:

1. 2005

2. 2009

3.2014

4. 2016

Correct Answer :-

- 2014

41) A dishonest shopkeeper sells goods at cost price but uses 900 grams in

place of 1 kg weight. What is his actual profit percent?/@ﬁi‘qﬂwaﬁ
DI AN Ted W 99T 8, W 98 1 fhat & I W 900 ITH derdr 2,d) ST a1y &1 ufa=ra

Td B

1
N 11;%-
111€LH
. 8"
3.11%

4. 9%

Correct Answer :-

1
1
119,’1'::-



42) DIRECTIONS: Find the Mirror image of the given figure./ 21 & 3Tpfd
PT gUuT fafera 31d HI |

Question figure/ U GHTF\'T

A

M

Answer figure/ 3T GI'IT[%I'

VA A

(a) (o)

4.d

Correct Answer :-

b

43) The first state to implement Panchayati Raj was:/ dam?ﬁwauawanl
P e UgeT ST UT:

1. Rajasthan/ STRITH
2. Uttar Pradesh/ STR Ue¥I

3. Tamil Nadu/ alhaqlg

4. Assam/3T{HH

Correct Answer :-

« Rajasthan/ IS

44) If ‘bucket’ is known as ‘tub’, ‘tub’ is known as ‘glass’, ‘glass’ is known as
‘saucer’, ‘'saucer’ is known as ‘spoon’, then which utensil will be used for
drinking water?/ If¢ ' ST &) ‘ea’ Fgl oral 8,” <9’ B e’ $er sar €, Rrera
P TR T ST 3 3R ‘ARG’ P T HgT oTdl ¢ af ur=t N1 F e A9 91 7dq
AT fpar sTam?

1. Tub/ <d
2. Saucer/ REGE
3. Glass/ ey



4. Spoon/ dHd

Correct Answer :-

e Saucer/ REGE]

45) DIRECTIONS: Choose the missing terms out of the given alternatives./

frden: fag e faswedl @ & g ug 91d Y |
a-ba-b-b-a

1. abba

2. bbab

3. abaa

4. aabb

Correct Answer :-

- bbab

46) What is Anaphylaxis?/ TATFATGT T 82
1. Choking/cH ge-T
2. Serious type of allergic reaction/ TR UHR Bt Tafoie Ufdfshar

3. Type of liver disease/ T UHR BT Il W

4. Heart attack/ gcdTdd

Correct Answer :-

« Serious type of allergic reaction/ TR UHR &1 Tafole ufafepar

47) Key board and mouse are examples of:/ 31 §Is g ATSH PP ISEII &
1. Input devices/ g7Yc SUHRTT

2. Output devices/ 3T3cYc 3UDRU

3. Digital devices/ f&fSTed Il

4. Micro-devices/ ATSHI-3UHUT

Correct Answer :-

 Input devices/ g19C 3UHRUT

48) Salary of Ananya is first increased by 20%, and then it is decreased by

20%. Change in his salary is:/ m%aﬁﬁqﬂﬁ 20% ﬁq@a&nﬁaﬁ?ﬁﬂwﬁ
20% I HH Ht | ITP da1 & ufadd 3:



1. 4% decrease /4% HH
2. 4% increase/4% T{@
3. 8% decrease/8% ®HH!

4. Neither decrease nor increase/ HH 7{?{@

Correct Answer :-

e 49% decrease /4% FHH

49) Annapurna Scheme (APS) meets the food requirements of:/ &H'{Uﬁ‘CﬁTxF-IT
(APS) Dt WIS raxadarsii & guf #dt 8

1. Indigent senior citizens not covered under PDS/ PDS Hﬁ?f\&l_d e afg AmTient
2. Children/ S=i1
3. Pregnant ladies/ THact faal

4. Young persons/ QHTGﬁ

Correct Answer :-
. Indigent senior citizens not covered under PDS/ PDS ¥ SR[f&rd (e afvg ArTia!
50) ‘Ctrl + Z’ depicts:/ ‘Ctrl + 2’ USRid ®3a1 8:

1. Ungroup/3-qu
2. Combine/ &aTsd

3. Undo/ 3g
4. Redo/ Rg

Correct Answer :-

51) Count the number of triangles in the following figure./ 4 3m&fa & Sy
B T=IT J1d Y |

2.12



3.9
4. 10

Correct Answer :-

52) What will be compound interest (in Rs.) on a sum of Rs.10,000 at the rate
of 5% p.a. after 2 years?/ %.10,000 31 IR W 5% TS B & A 2 U H Thgfex AT (3.
H) @ gift?

1.1025
2. 1560
3.1160
4. 1550

Correct Answer :-

« 1025

53) DIRECTIONS: Study the following pie chart carefully and answer the
question given below./ ﬁﬁ'ﬂ: IGLIIECE] tﬂi e BT T A AT BT A ﬁ'E RIL L)
& IR G|

The pie chart given below shows the spending of a family on various heads

during a month in percent. /T-ﬂ%Eﬂ Tt ﬂﬁ-ﬂlé@qﬁﬂﬂmﬁmﬂﬂﬁww
e ¥ fpu T @ B ufma # guifar 21

Total monthly expenditure/ &d ATRI® g=32,000

Fuel /58T, 9% Rent/ T

14%

Education,/Ta&T,
15%

Food /87T,
45%

Expenditure on fuel is what percent of expenditure on Food?/ ﬁ'r‘ﬁq'\'ﬁ?QTTqu
@, vieA W A e T @1 fpaar ufaze 82

1. 35%



2. 20%
3. 60%

4. 75%

Correct Answer :-

« 20%

54) A person who is unconscious, not breathing, has a weak pulse, needs:/ T® feT a@‘\’l %,
T 81 & T8T 8 SR 9wl At dhift/ pueik 8, 39 T1fRu|

1. CPR

2. Hiemlick maneuver/ gigafd® gi%

3. Rescue breathing/ddTd 419

4. Back blows and chest thrusts/ e IR yufedr iR BTl W) Yab

Correct Answer :-

» Rescue breathing/sdTd YT

55) Which one of the following diagram represents the relationship between

automobiles, cars and motorcycles?/ g # 9§ $i9 Wt IR smpfa siferdarsa,
PR R HIeATS(Pd & A ¥« HI il 82

4, =

Nl

Correct Answer :-

N
[ Peeadifs

%,
" -

Taw
RN

Topic:- Grad_Managerial Skill



1) Kasturba Gandhi Education Scheme is related to:/ seqzar wieft fvear FrsmT
T grafead gl

1. Girl education/ afereT fareT

2. Adult education/ Fa+=F (1) forer

3. Child labour education/ arter =fae e
4. Tribal education/ Sre=iTfa foreT

Correct Answer :-

« Girl education/ =aTfersT forem

2) Visual Communication includes:/ 357 991X ® ATHT &=
1. Body language/ &< &t 9w

2. Facial Expressions/ 9g< & ga-ATd

3. Gestures/ gra-919

4. All of the above/ STd< T+t

Correct Answer :-

« All of the above/ 393 T+t

3) Which of the following Five Year Plan is also known as Rolling plan?/ &=
et FISET F TATST TIeET o FEd §?

1. First Five Year Plan/ ugeft d=afiar aser

2. Second Five Year Plan/ Z@<I 95@dia JsT
3. Sixth Five Year Plan/ Z3t d=ati= arsreT

4. Tenth Five Year Plan/ Hd&T =9 ATST

Correct Answer :-

« Sixth Five Year Plan/ & v=adta TsAT

4) Which one gave management skill?/ e« Teem sterer = a2
1. Robert Katz/ Tia< Ftest

2. Joe Gracie/ ST 4=t

3. Berne/ a

4. All of these/ ST T+t

Correct Answer :-



« Robert Katz/ ¥fa< s

5) Chart contains series of /AR &I g@aT gt Bl
1. Facts/a=at

2. Ideas/fa=mi

3. Message/dzert

4. All of the above/3IT=F T+t

Correct Answer :-

« All of the above/3Td T+t

6) Which type of approach is Television?/ I=ifaw gy iy gy &2
1. Individual approach/ a=fxF# zfa

2. Group approach/ ImqfE® TgfT

3. Mass approach/ @dsi= qgfa

4. None of the above/ SYIF & & #IS g1

Correct Answer :-

« Mass approach/ @& Tgfa

7) Working conditions, status and salary are: /¥ fRufaat, R (o) g aa+ &-
1. Maintenance/ T@¥@Ta

2. Hygiene factor/ Fa=sdr w13

3. Job context/ F1¥ (S1e) Tvad

4. All of these/ 393k T+t

Correct Answer :-

« Job context/ FT () T=asf

8) What is “Green Gold"”?/ “T1 91 T §?
1. Tea/ 9@

2. Coffee/ wihr

3. Gold/ &avt

4. Rice/ at1a<t



Correct Answer :-

9) Name the author of the book “Primitive Culture”/ “fififea Fea< (snfew &)’
TEqH % TATAAT T ATH FqTC

1. Majumdar/ ASHaT
2. Lundberg/ d=a3t

3. Tylor/ 2 @«T

4, Malinowski/ \Tferara=hy

Correct Answer :-

o Tylor/ z@«T

10) A field of study investigates the impact that individual, group and
structure have on behavior with organization is known as:/ S7a9 F 979 A8
U TS AT A<, GYg Td GXAAT 6 THTT I T(F-TSATA HLA AT TeqAT & Hl £l
STaT gl

1. Organizational change/ T AT qREd

2. Organizational behavior/ HT&ATH® HaBX

3. Organizational stress/ S&ATeHS TS

4. All of these/ IuZraa T+t

Correct Answer :-

« Organizational behavior/ Ei&ATHS SHAZX

11) Which state stands first in the length of roads in the country?/ 3 & 9s&1
T AFATS F ATHA | HIA-GT AT Tg €T I 72

1. Maharashtra/ 9grrg
2. Uttar Pradesh/ 39 w=er
3. Madhya Pradesh/ @& u=er

4, Rajasthan/ Trsream=

Correct Answer :-

« Maharashtra/ #grg



Which state produce maximum soya bean?/ F19-9T TST AT FT ATARTH T
FLAT 57

1. Madhya Pradesh/ weq gaor
2. Uttar Pradesh/ 39< w=9r

3. Bihar/ fag™®

4, Rajasthan/ Trsream=

Correct Answer :-

« Madhya Pradesh/ #&x wear

13) Importance of demonstration method is:/ y=ei= f&far &1 75 &:
1. Provide advantage of improved practice/ Sgda< ST &7 ATH T&TH FHLAT
2. Shows the technique/ T s ortaT

3. It arouse interest/ &= W@ FAT

4. All of the above/ STd< T+t

Correct Answer :-

« All of the above/ 393 T+t

14) What is the main objective of colour in visual aids?/ 327 g% aEUAT § GO
T {ET I FIT a1 872

1. Colour makes the aid attractive/ I3 GgTa ATaIAT T TFTF I9T0 &
2. Colour makes the aid boring/ 37 HgTa® AT FHT {LH IATT &

3. Colour makes the aid dull/ 37 HgM= AT FT 6T 9910 &

4. Colour makes the aid costly/ T @gTa# TTHIAT FT T a4Td

Correct Answer :-

« Colour makes the aid attractive/ 31 HgT@® ATRAT T THUF a49Td &

15) Rapid industrialization is the basic objective of: /= sirenfRrfr wyor
T AT 3T 8

1. Second Five Year Plan/ TaT 9=adTa TSI
2. Third Five Year Plan/ St =&t TrstT
3. Fourth Five Year Plan/ =teft v=radia arsmT
4. Fifth Five Year Plan/ ai=dt d=adtx Jrs1



Correct Answer :-

« Second Five Year Plan/ &< 9=adig FrsHT

16) Which among the following is an informal method of social control?/ s=#

q &I ATATS =07 Y T srra=ries afdr 872
1. Custom/ fifa

2. Coercion/ srafzs

3. Law/ F1A

4, Education/ foretr

Correct Answer :-

« Custom/ ffa

17) Which among the following is a motivational factor?/ 7% & #9 T JTomerfy
FIH &7

1. Security/ q¥a&T

2. Desire/ z==1

3. Recognition/ AT=ar/@¥ 1=
4. All of the above/ 3T a+T
Correct Answer :-

« All of the above/ 393 T+t

18) Managerial grid was given by:/ Tea6iT i T & ot
1. Rensis Likert/ Rafas amsse

2. Blake and Mouton/ s&& Ug Ai3a

3. Curt Lewin/ #¢ &=

4. All of these/ ST a+ft

Correct Answer :-
« Blake and Mouton/ =% T4 Hi3a

19) Weber conceived of sociology as a comprehensive science of social
1/ I A GUTSIATE FT FeuaT GTHTER ¥ U forere fasm=r & =1 7 fi ot

1. Group/ 98



2. Action/ FHaTE!
3. Interaction/ sr=atsar

4, Institution/ g=Jqme

Correct Answer :-

« Action/ FTaaTEr

20) The factor that determines the change in population of a place is: /T
T it TAEEAT § TEATT TT LA ATAT FICh &

1. Birth rate/ S/q =¥
2. Death rate/ gg =¥
3. Migration/ 9sma=

4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ 393 T+t

21) Which among the following is an approach of communication?/ 7% & #19

T FT TF T5A g7

1. Individual approach/ a=fxr vfa
2. Group approach/ Imgfe® Tgfa

3. Mass approach/ @dsi= qgfa

4. All of the above/ 374 a+ft

Correct Answer :-

« All of the above/ ST a+ft

22) Management skill is associated with:/ Y& Fiae ¥ T3 2l
1. Technical skill/ TsT=T FrereT

2. Human sKkill/ a1t terer

3. Conceptual skill/ Ta&meoreas Hreret

4. All of these/ IuZraFa T+t

Correct Answer :-

« All of these/ Iurad g+t



23) Who coined the term “Primary Group”?/ “STafa# q9qg” s Fohae =T a1?
1. Comte/ Fie
2. Ginsberg/ et

3. Cooley/ Feft
4. Gisbert/ Rae

Correct Answer :-

« Cooley/ Tt

24) Maslow’s lower need include:/ #saT F A=< srarsasaT ¥ ATHT -
1. Psychological safety/ AR T2aT

2. Security/ gram

3. Social need/ \TaET AMF9TFAT

4. Ego need/ ¥g #t smaeehar

Correct Answer :-

« Psychological safety/ aqra=Ta et

25) Studies of social interaction and group belong to which sociology?/

AT SeaTaT Ta GHg T LA [ GHTSIATE & qFafead g7

1. Urban sociology/ <rg¥t fHrsterma
2. Macro sociology/ 98 TATSIATH
3. Applied sociology/ TIgF HATIATE

4. Micro sociology/ q&® TATSIATE

Correct Answer :-

« Micro sociology/ 9&q qHTSITH

26) National Sample Survey Organisation was established in:/ g T3AT Ga&0
HTST il TATIAT #gs o

1. 1950

2. 1951
3.1952

4. 1953

Correct Answer :-



27) Which one of the following is not a characteristic of Primary Group?/ 34

" I ITATHEF TG T ATHALT A1 57
1. Intimacy/ Farar/=tagdar

2. Closeness/ a#iaar

3. Familiarity/ STH-ug=m=/qai=a

4. Impersonality/ Rafrsr

Correct Answer :-

« Impersonality/ afrsr

28) Which state in India produces maximum Mica?/ ST %7 H1F-97 TST AIF
(|TSHT) FT ATERTH ITUTET HLAT 372

1. Madhya Pradesh/ weg g2
2. Bihar/ g™
3. Orissa/ =9

4. Jammu and Kashmir/ S 3T weHiT

Correct Answer :-

. Bihar/ fagw™

29) The role is which aspect of status? /<%, 2RI (Fed) FT H9-97 78 872
1. Counter/ fareft/faadia

2. Dynamic/ wfaefier

3. Static/ fearx

4. Latent/ 9

Correct Answer :-

« Dynamic/ rfasfier

30) Summation of attitude of group is called:/ 9g % &A1 F TT HT Fgd
gl

1. Motivation/ 3=urT

2. Morale/ atast



3. Both of the above/ I9Z=F =1
4. None of these/ U<k # & #Is gl

Correct Answer :-

« Motivation/ 3=

31) Name one macro sociologist from the following: /37% & g8 GASIATET T84T
1. Simmel/ fBae

2. Goffman/sTw=

3. Weber/3ax

4. Durkheim/g@w

Correct Answer :-

« Durkheim/g@w

32) According to area which state is the largest?/ &=%a T 32 ¥ FI-9T TT a9
JETE?

1. Madhya Pradesh/ weq gaor
2. Rajasthan/ Trs=ama
3. Uttar Pradesh/ 3<% 99T

4. Maharashtra/ #gery

Correct Answer :-

« Rajasthan/ Trsream=

33) Individual who achieve goal through other people is/are: /3= T & ATEAH
| & TTH HA a1/ ATE &l

1. Individual/ =af=mTa

2. Group/ 998

3. Manager/ a9+

4. All of the above/ 373 T+t

Correct Answer :-

« Manager/ ya4

Topic:- Grad_RC_Managerial Skill



1) DIRECTIONS: Read the passage and answer the questions that
follow./ fcsr: et Terer 1 eqTqa® Tehe Iq A9 faF TF qgraswedt Te71 § dgf fasheq
T FIT HL|

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./

forfaa st o ATedw & G HTAT, @A-ATST HLA ATA AR S [EIOAT 6 TN AL HA § AGea ot
AT AT @7 81 AR T g 99T F A9, TEErsi & o9, 99 (A6 Ud GFhde),
FATeA, T, ATESTI=h T (AT SATT) T TSTTT FHHT 9, 3T A=AT fEhee FT s@ Amae
% BT 8| forfea ass, Ariont 1 9918 39 F w1 7 37T 9 I979 | Tg1adT HL @I gl T T 053
TG GHT TS AT (<7 TTd &1 I s8 ST § 98 7 9hd & < ST gva¥ [ordT ST 99haT gl
forfera ars srfars sraTfores wreT Strar &1 ferfRr oree & oz St @)1 3R s s PreT ST v ag
AT T Freame fT 3aT § o IR AT 81 S T ST ST &1 SMhud HEAT, IAH & ST
3T I8 THHATAT TS ATE FTAT 31T g1 T The 1o T=xT s a9 & T 2l

Home makers and farm people are communicated with what form? /g sic

GAT-ATET FLA AT AR A o6y &7 F G941 63T 1T 872
1. Written words/ ferfera erss
2. Oral talks/ ®if&re arat

3. Mass media/ SHEHTT ATL9H

4, Seminars/ SISt

Correct Answer :-

« Written words/ ferfera ers=

2) DIRECTIONS: Read the passage and answer the questions that
follow./ f3sr: fMwAforfad T=rier F1 e d® TgH S A1 (oF T qgiasmed! Te1 § A5l fawheq
T T HL|

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred



to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./

forfaa arsat o ATedw & G HTAT, @A-ATST HLA ATA AR S [EIOAT 6 TN AL HA § AGea ot
AT AT T 81 AR T g 99T F A9, IEErsl & o9, 99 (A6 Ud GFhde),
FATeA, T, ATaSTT=h T (ITATT SATT) T TSTTT FHHE 9, 3T A=AT {Ehe FT @ Amae
% T 3| forfea srse, areiont Y gomg 39 F w7 ST T a9 & GETrIar ¥ TG 81 S T e
TG GHT TS AT (<7 ITd &1 I 0s8 IR § 98 7 9hd & < ST gva¥ [ordT ST 99haT gl
forfera ersg srfar s wreT StTaT g1 orse § orfve 2t 31 Ff o=t o< R smu av 9 g
T T Freame faT 3aT 8 o IR FXaT 81 S T ST ST 4T Shud HEAT, IAH & ST
3T I8 THHATAT TS ATE FIAT 21T g1 T The 1o T=xT s a9 & g 2l

What are written by Extension Staff?/ fa=a Ters g F7 for@T sitar g2

1. Newspaper stories/ FHTH 97 & o
2. Magazine articles/ a3t & =@

3. Leaflets/ o= (sfi®ete)

4. All of the above/ STd a+T

Correct Answer :-

« All of the above/ 393 T+t

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: i e 1 samEs Teae 3a+ = ¥ 1 sghawedt weai § a5t Ao
T =TI A

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./

forfera et o ATedw & H= HTAT, WA -ATST HLA ATA ARM S RO % T G HFA § AGea ot
AT AT TET 81 AR ST g7 99T T F 9@, TEErsl § o9, 99 (A6 UF GFhde),
FATeA, TRU, ATESTh T (AT SATT) T TSTTT FHHE 9, 3T W=7 e FT s@ Ama
% BT 8| forfea arss, ArHiont 1 9978 39 % 1A T 3T A9 I979 | TgIadT 6L @I gl T T 053
TG THT TS AT (<7 TTd &1 Fraa s8 IR § 98 7 9d & < IT07 gva¥ (oA ST 9T gl
rfera ersg srfars s WAt StTaT 1o orse § orfve 2t 31 Ffe ==t a<g e smu v 99
AT T freame feT 3aT § o IR AT 81 AT T ST9T ST &1 ShUd HEAT, IAH E ST
3T S8 THSATAT TS ATE HTAT 1T g1 T The 1o 15T A I & T 2




Which work is made interesting for the rural people?/ I & TTY FIT-AT FTH FT
ST a9 AT /2

1. Participatory work/ gaTrar 13
2. Advisory work/ IdTg & &1 w1

3. Referring work/ Seor/a=asi= =T 15
4. Interesting work/ &= w1

Correct Answer :-

« Advisory work/ eTg a7 FT w1

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: Mwaferfea e 1 samEs Teae 3a+ A+ ¥ 1 sglawedt weai & a5t fawew
T =TI H

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./

o orsal & ATeAH § HATX FHIAT, AA-ATET FLA AT AN AL FIOAT 6 AT FATL HLA H Ageaqur
AT T TET 81 A ST g7 9T RuT & 9@, TEEsi & o9, 99 (A6 Ud GFhae),
FoAfed, T, s el (41 i) 9% T i g0 = 9o, 3 IR e 1 a@w amarn
% BT 8| Forfeaa arsx, AT 7 978 39 % 1A T 3T A9 I | Gg1adT H GT gl T T 058
TG THT TS AT (o T &1 oI ars8 TR & 9¢ 7 9ohd § i< IT07 gva¥ (o ST 9T gl
orfra ersg srfar sTRTOTR /AT StTaT S1ferfer orse § erfve S g1 afe ==t a<g forar smu v ag
AT T freame feT 3aT 8 o IR FTaT 81 @ T ST9T ST &1 S 9d HEAT, IAH F ST
T I7¢ GHHATAT UF ITE FLAT AT gl T TheATh =G A@H o A TgIaF g

The written word is regarded as more:/ fif&a ez srfer HTAT 74T B
1. Pleasing/ 9gTT

2. Refreshing/ aTer(t & araT

3. Authentic/ gmHTior®

4. Boring/ se&

Correct Answer :-

« Authentic/ JraTiorF



5) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: et Terer it eqTqa® TeHhe Iq A9 faF TF qgiaswedt Te71 § agi fasheq
T =TT HL|

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./

forfaa arsat o ATedw & G HIAT, GA-ATST HLA ATA ARM S [EIOAT 3 TN G FA § AGea ol
AT T T 81 A ST g7 99T F 99, TEErsi § o9, 99 (A6 Ud GFhde),
FATeA, T, ATASTTh T (ITATT SATT) T TSTTT FHHE 9, 3T A=AT fEhee FT @ Amae
% BT 8| forfea arss, Ariont 1 9918 39 % 1 7 37T A9 I979 | Tg1adT HT @I gl T T 058
TG GHT TS AT (<7 ITd &1 I 0s8 IR § 92 7 9d & < ST gva¥ [ordT ST 9T gl
orfera ersg srfar s wreT StTaT g1 orse § orfve 2t 31 Ffe o=t g Rrar smu av ag
AT T freame fT 3T § o IR AT 81 S T ST ST &1 Shud HEAT, IAH & ST
3T S8 THHATAT TS ATE FHIAT 1T g1 T The 1o =0T s a9 & T 2l

What is the purpose of written work?/ i@ w1 &1 S2eT 71 graT 82

1. Attract their attention/ 39T &3TH ST FLAT
2. Interest them/ 3a¥ =~ ST
3. Make them understand and remember/ 32 HH=T 3% IT= faam™T

4. All of the above/ ST a+T

Correct Answer :-

« All of the above/ 373 T+t

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: Meferfad srerisr &1 eaMqEs TeHt 6+ A (o3 T Sgiaswedy Wi § dgf fawed
T =TI A

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./



forfe arsat o ATETH | HAT HTAT, @ATATST HLA AT AR ST [T O0AT 6 AT AT HA § AGead ol
AT T T 81 A T g 99T F 9w, s & 39, 99 (Aede Ud tFhde),
FATEH, TR, ATASTH AT (AT AT I TITT AT I, i A=AT e 7 A ama
% BT 8 g asg, arfiont 7 gomg 39 F w1 7 37 9 a9 | Gg1adT HL G gl T T 051
TS AT T18 qAT &3 AT | T 9158 TR | 92 ST T & < ST dea¥ (o7 ST ghaT g
forfera erse srfars saTiors wTeT StTaT g1 erse & orfve 2ift 31 7fR st g P smu a9 g
AT T forame T 34T § o 3T AT 81 @ F7 STT ST &qTH A Ud HLAT, SAH S ST
3T I7¢ GWATAT TS ITE HX(AT BT gl T T Toh 1= AGH o A TgTaF 3

The written words help a person become a:/ @@ ass 99+ # 9g1a 3|
1. Good teacher/ =1 T&ATIH

2. Good writer/ s=gT @@®

3. Good student/ sr=ar fa=mft

4. Good person/ =T =A<k

Correct Answer :-

« Good writer/ I==1 9@F

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: fwfarfaa Terter it eam s Tga S A= ¥ T aglaswedt wet # agf faweq
T =TT HL

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

FTA FAT TUTAT o TAahTE, FTieq S Iqh STANT H GHAAT 6 A, AT i AT STAL FAT TUTAT
Rl F & Fht ot Aok st &1 g Nt F & § aemeft ot 3w serir 9 gf{E F
T TH-GAL & AT ITH AT (AT g1 TH ST & AT AT €97 ITUE A A §U IS Twqe TF 99 T
& Il H Ug ST gl T ITUE FHH (AWA-[ATEa) awg & Rreg gzt it afiemar #33 % forg S =
g1 T Fre-gie fue gra € S srateer § geft a1 s ugt it aferar wea &1 9ea 9 Amaefier 3o 4,
TERta, FW, FIO-srerary fSeare, ararsh e # srafaes Rfaear FPemm 8, ot tar 999 o
AT T VI XA I {&T 9 (AT ST TET 8 ST ATYF T a7 T h1AdT o (70 ST AT 3
TeRta # forae daer & aregw & fAferear & whar yam= F9m

What has the world developed in recent years?/ 33T ¥ g1 &1 & a9l | F4T faaHeq
AT 82



1. Radio communication System/ If=R=T §=TT YorTett

2. Satellite Communication System/ IUUg H=TT TUITAT
3. Online Communication System/ F=TET S=TL TOITAT
4. None of the above/ SYZI<F & & #IS g1

Correct Answer :-

« Satellite Communication System/ STIg =T YUrTet

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fadsr: fawaferfera werter it earaga® qahe 39+ A= f2F 77 sglaswedt gedi § a2t fasweq
T FIT HL|

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

I AT TUTAT o TAwTE, FTeq 3T Ik STANT H THAAT 3 °T, AT 1 FAAT STUG AT TOTAT
i w3 & Tt ot et st &)1 "= YNt & & & Sl reft 3| g  gfRET & e
T TH-GAL & AT ITH AT (<IAT g1 TH ST & AT AT €97 ITUE A A §U TS Twqe TF 99 T
& Il H Ug ST gl T ITUE FAH (AWA-FATE) avg & Rreg gz it afiemar #:33 % forg S =
g1 T Fre-gie fue gra € S srateer § gt a1 o ugt it s #ea &1 9ea 9 Aemaefier 3o 4,
TERtd, FW, FIU-srerary e, ararsh s # st Rfaear FPemm 8, ot tar 999 o
AT T VI FIA I T 9 (AT ST LT 8 ST ATYF T a7 T R1AdT o (70 ST AT 3
eRta # forae daer & aregw & fferear & whar yam= F9m

Communication technology has brought the world:/ §=T< ST gFAAT F AT &
F AT B

1. Far/ ¥
2. Close/ @i

3. Near/ 9=

4. All of these/ IU<rea Tt

Correct Answer :-



9) DIRECTIONS: Read the passage and answer the questions that
follow./ fcsr: Fwaferfea Terer 1 eqTqa® TeHe Iq A9 faF TF qgiawedt Teq1 § agf fasheq
T =TT HL|

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

I AT TUTAT & TAhTE, Heq 3T Ik STANT H THAAT 3 T, 3ATST 1 FAAT STUG AT TOTAT
R e & w6 o e st 1 S=T SRRy o & § R =T 39 Y07 9 gAT & q0n
T TH-GEAL & AT ITH AT (ST g1 TH ST & ASAT AT G197 ITUG A 1A §U IS T+ TF 99 T
& Il # Ug ST gl T ITUE FAH (AA-fATEa) awg & Rreg gzt it afiemar #33 % forg 9= =
g1 T Fre-gie fue gra € ST sreateer § geft a1 s ugt it e wea &1 9ea 9 Araefier 3o 4,
HERtd, FW, FIU-srerary e, ararsh e # srafaes Rfaear FPemm 8, ot tar 999 aw
AT T VI FIA I {&F 9 AT ST LT 8 ST ATYF T a7 T 1A aT o (70 ST AT 3
HeRta # forae daer & aregw & fAfergar & whar yam F9m

What is Satellite? /37Ug FT1 8?

1. Artificial Object/ Ffw a&g
2. Imaginary object/ Feafaa a¥q

3. Original object/ 9= a+]
4. Electronic object/ et aeg

Correct Answer :-

. Artificial Object/ F o=

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fadser: fwaforfaT erier it seamds Tede Iaa A1+ o 79 aglasedt ¥e1 7 @&t ey
T =TI A

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,



languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

I AT TUTAT & TAhTE, FTeq 3T Ik STANT | THAAT 3 T, 3ATST 1 FAAT STUG AT TUTAT
R e & w6 o et St 81 S=T SRRy o & § R =T 39 0T 9 gAT & q0n
T TH-GAL & AT ITH AT [<AT g1 TH ST & ASAT AT G197 ITUE A 1A §U I T TF 99 T
& Il # Ug ST gl T ITUE FHAH (AA-FATEa) avg & Preg gzt it afiemar #33 % forg 9« =
g1 T Fre-gie fue gra € S sreateer § geft a1 s ugt it s #ea &1 9ea 9 Aeraefier 3o 4,
AT T T&TH LA < & I TAT ST T@T § ST AT F A9 TS w1l & forg S 99T i
HeRta # forae daer & aregw & ffergar & whar ya= F9m

India has diversity in:/ sad___ # @fFgar g
1. Tradition/9F =Tt

2. Culture/s a4 (F7a)

3. Religion/&&

4. None of the above/3IuTI<E & & #IS T8t

Correct Answer :-

« Culture/sa4+ (Fe=v)

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: et Terter it eaTqa® Tehe 39+ A= faF 79 qgiaswedt Teq1 § g1 faweq
T =TI A

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

I AT TUTAT & TAwTE, FTeq 3T Ik STANT H THAAT 3 T, TS 1 FAAT STAG AT TOTAT
g X9 & w6 T et St 1 S=T SRRy o & § R 10T 59 0T 9 gAT & q0n
T TH-GAL & AT ITH AT (AT g1 TH ST | AT AT G297 ITU7 A 1A §U IS Twq e TF I9 T
& Il # Ug ST gl T ITAE FAH (AA-fATEa) awg & Rreg gzt &t afemar #3 % forg s =
g1l T Fre-gie fue gra € ST sreateer § gt a1 orvg Ugl it aienar #ea &1 9Tea 9 fAwraefier 3o 4,
Tepfa, F, FR-Srerary fSraarsit, srarsi suf & sreafers Afrear femm &, =it taraed aw
AT T T HEA I & 9 (IT ST TET & SV ATF F A TAR1AAT o6 (1T ST T SHTUT S
HeRta # forae daer & aregw & fAferear & whar yam F9m




What is the thrust area of electro-communication system? /33a S=1< Yot §
e €9 9 e & a1 fear sir wr &2

1. Provide fast communication system/ oS =T YUITHAT &1 FTAT

2. Provide free mass communication to all/ @+t &1 {7:9[eF SHE=1T T2 FHAT
3. Provide unique communication system/ sIae ™ =TT YOITAT T&TH AT

4. Provide artificial communication system/ FfE¥ H=TT YOIt Y&TH HEAT

Correct Answer :-

« Provide fast communication system/ a0t =T YOSt &1 AT

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fadser: fwaforfad eriar it o Tee Iu A1+ o 73 aglaswedt we1 7 a8t e
T =TI H

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

FTLA TAT TOITAT % FrahTe, Fieaq i< SUh STANT A THAAT % G, AT ht FAAT SUAG HAT TOTAT
iR X9 § w67 T et St 81 S=T SRRt o & § SR 0T 39 AT 9 AT & q0n
T TH-GAL & AT ITH AT (AT g1 TH T & AT AT G297 ITU7 A A g YA Teq e TF q9 T
& 9 § 9T ST g1 ¥ STE FHH (Aa-[ARa) awq g S gzt &t aRewaT F39 & fore s w1
gl T Fre-le TUT grad & ST A=afeer § GAT AT o+ TRT T ITGHAT FLd g1 AT S8 Faawrasiier 391 4,
AT T V&I FLA UL T 9 AT ST LT 8 57 AT T a9 TR ar & forg Trhr 97uT $i
HeRta # forae daer & areqw & fAfergar & wwhar ya = F9m

What is the message coated with?/ szsr fFre# foraer grar g2
1. Local technique/ =TT T is

2. Local language/ =T |rT

3. Local surrounding/ =TT afeaer
4. Local climate/ =g @@
Correct Answer :-

« Local language/ == AToT



Topic:- Grad_Child Care and Education

1) What is the proportion of New born child face & head?/ Wm%aﬁﬂm
R & Mrarg ® feaan srgura gar 82

1.1:8
2.1:9
3.1:10

4, 1:11

Correct Answer :-

« 1:8

2) IQ of Mentally Retarded children is:/ AF® &0 I feg a1a® o gix-afes
fopait g<it 32

1.95
2. 85
3.90
4. 92

Correct Answer :-

3) Who is the founder of cognitive development theory?/ SJHTH® fa&rg
R & Sagrar s 82

1. Jean piaget/ ISEACEIS
2. Skinner/ TR
3. Koher/ ®IgeR

4. None of these/ SRIgd & A cr>\|£=|€f

Correct Answer :-

« Jean piaget/ o gt

4) Among these which is not effect of Heredity?/%ﬂﬁ@ﬁ?mﬁmqﬁ

2

1. Effect on Intelligence / g@mmna



2. Effect on character/ I TR g1
3. Effect on personality/ Sfadd TR UHTG
4. None of these / B'Clﬁaﬁﬁﬁﬁ"scﬂ"{?f

Correct Answer :-

« Effect on character/ IRA W YHTG

5) Law of Growth is/ 3f& & #1919 fFam 82

1. Growth Proceed from near to far/ q@ﬁﬁﬁﬁﬁ GﬁTHqﬁ-TEﬁ?ﬁ%
2. Growth is continuous & Oder/ gf& FRER TUT FHIR Bt §

3. Growth Proceeds from head to foot/ 3fg RR I R &1 3R gadi §

4. All of the above/ SWRIdd g

Correct Answer :-

o All of the above/ IWRIgd gt

6) When did Nation Education policy started?/ I Rigm -ifa &1 yvey &9 fHar
T™T?

1. 1988
2. 1986
3. 1999

4. 1997

Correct Answer :-

- 1986

7) By whom Balwadi was conducted?/ STaare! fpad gRT darferd gid! 82

1. Welfare extension project/ FH U] [aIR aroT

2. Indian counsel of child welfare/ é%qﬂ BHIIAT HH dlsrcfs JABIER

3. Central Social welfare Board/ Jcd HI=d dAHR S1e
4. None of these/ IWITI & ¥ s ol

Correct Answer :-

« Welfare extension project/ ®earol [dwdR Ao



8) Which is the Areas of Human development?/ ATHd {9 F1 AT P AT R?
1. Physical/w

2. Social/ TS

3. Cognitive/ IMTHD

4. Physical, Social, Cognitive/ IRIR®, FHIN®, TIHTHD

Correct Answer :-

« Physical, Social, Cognitive/ YRR, AHIN®, TATHD

9) What is the IQ of Genius or Gifted Children?/ UfayTa ara® & giS-afy
et gt 82

1. 130-140
2. 140-150
3.135-160

4.165-170

Correct Answer :-

« 130-140

10) What Firstly includes for security of vulnerable children?/ TyurRite Tl
& fore Rem o vy @ afvrfa 82

1. Education/ fRreqm
2. Recreation/ HARSH
3. Social/ FTHISIS
4. Dietary/ 3TERI

Correct Answer :-
o Education/ fRrefm

11) What is the main Source of AIDS?/ TS &1 YBI Jdld ®I< AT 82
1. Prostitution/ a'ﬂﬂqﬁf

2. Saliva/ @R

3. Cough/ @t

4. None of these/ IWRIFI & ¥ &5 ol



Correct Answer :-

« Prostitution/ 3'52?11?{%

12) Informal education is related to? / 3FUATN® AT A T Hafid g2
1. Pre-School Education/ qﬁi’ﬂ?ﬂfﬁT&ﬂ

2. School Education/ RTa fRr&f

3. Special Education/ fafRre fRem

4. All of the above/ IURlad g

Correct Answer :-

« Pre-School Education/ ‘{L&‘WT?T&H

13) Which is the Characteristics of infancy?/ QATaRT B} faQwar ot 82
1. Mental Activities/ AFRI® fHaTg -

2. Dependency on others/ @'@ftﬁﬁlﬁ?ﬂ

3. Dispose of emotions/ AT &1 ueRF

4. All of the above/ SWRTad TH!

Correct Answer :-

o All of the above/ IWRIad gt

14) Which type of children are called exceptional children?/ f&< aTa®! &1
faf2ree gTere T wiTar 82

1. Genius or Gifted children/ UfdHTaT STcie

2. Physically Handicapped children/ IRIR® 31&dr ¥ o el
3. Mentally Retarded children/ AFRI® ¥0 ¥ &Y dA®h

4. All of the above/ IWRIE GHi

Correct Answer :-

« All of the above/ IWRiad Tt
15) What is the duration of childhood?/ ITTIRT Bt SITQEIIT%?-
1. 0-2 Years

2. 3-12 Years



3. 2-14 Years
4, 1-6 Years

Correct Answer :-

e 3-12 Years

16) How quality is related with creativity?/ 0T oHTH®dT A HA Tafd 82

1. Introvert/ 3fdvgw
2. Extrovert/ H%H,’Eﬁ

3. Thinking/ I/
4. All of the above/ IR g+t

Correct Answer :-

« Thinking/ 9=

17) The Proximodistal law is of Principle/ Fi®e 4 R &1 faw
&1 Ry &-

1. Development/ famrg

2. Environment/ dTdrd<ul

3. Heredity/ d=IIshH
4. Birth/ S

Correct Answer :-

« Development/ fa®rg

18) When was Creches established?/ ST TR &1 RIMYAT $d $i 15?2
1. 1982
2. 1986
3.1977

4. 1989

Correct Answer :-

« 1977

19)



What is the population of Primary Health centre?/ WY e & B S EEIT
forast 82

1. 60,000
2. 50,000
3. 30,000

4. 40,000

Correct Answer :-

20) Learning is a universal Process/ ST U ATaHIT¥® ufshal-
1. Specially for particular age/ g fa=Iy

2. Only for Boys/ Had dsdh| & o

3. Available in all person/ WEITUﬁﬁUTEﬁGFﬁ%

4. None of these/ IWITI & ¥ &5 ol

Correct Answer :-

« Available in all person/ g wroft & urf Sl |

21) What is the duration of Prenatal? /ﬂﬂfﬁﬂaﬁ 3raf¥y fea-t iﬁ?ﬁ %?
1. 9 Month/ 9 HIg

2. 8 Month/ 8 HIg

3.2 Month/ 2 Hlg

4. 3 Month/ 3 HIg

Correct Answer :-

« 9 Month/ 9 HIg

22) What are the activities of WHO?/ WHO &t TIfafafiRmt o o 22
1. Environmental health/ YRy W

2. Development of Men Power/ A4 fad &1 fdemr™d

3. Prevention and control of Specific disease/ fafRme I 1 =Ry T fa=o
4. All of the above/ IWRIad TH!

Correct Answer :-



« All of the above/ SWRIad GH

23) Meaning of physical growth cycle is:/ l’lﬂﬁﬁ?q@ﬂ?ﬁﬁ gy HTST B
1. It Occurs in period, Phases/ ?J%’ﬁﬁl:ﬂ'ﬁa?m, RT3

2. Regular rate/ Fafd

3. Rapid period/ did Ifd

4. All of the above/ IWRIE G4

Correct Answer :-

« All of the above/ SURIad Tt

24) When was First Rashtriya Bal Board started?/ WYH I 976 SIS $d UREH
fooaT mar?

1. December-1974/ [&O=R-1974
2. October-1984/ 3fagsR-1984
3. August-1990/ 3Td-1990

4. January-1991/ SHd<-1991

Correct Answer :-
. December-1974/ f¢awR-1974

25) In India which year Rashtriya Balniti was started?/ Wﬁm?ﬁfﬂ@ﬂ
CIGENCRIET I RIES

1.1970
2. 1980
3.1974

4. 1973

Correct Answer :-

« 1974

26) Learning capacity of children in preschool is based on/ qﬁmmﬁ
Hraa Y e frg w smenfya 32

1. Personal based capacity/ fgdird TeTRd =T

2. Syllabus based design/ UT&IhH TR IT1



3. Government based Programme/ DI NURT HTdHH
4. Teacher Based Capacity/ RRief& 3nutid &

Correct Answer :-

. Teacher Based Capacity/ fRi&r® 3nemid arwdn

27) Characteristics of creativity is/ oHTH®dT 31 faRAwamd Hi At 82
1. Way of Thinking/ fa=d &1 T @Ri1

2. Goal directed/ @&g — &R

3. Unique/ 31dqd
4. All of the above/ IWRiad g+t

Correct Answer :-

« All of the above/ IWRIed T

28) Montessori method is related to?/ Ao fafy feaa Tdfta g2

1. Education of mentally retarded children/ MRS e S1a® o1 e

2. Education of Genius children/ WfaHTa aTeidh! & fRiaf

3. Education of genious children/ iU STad! &1 Riem

4, Education of physically handicapped children/IRIN® a{aﬂmgaaawaﬁf?r&n
5. All of the above/ JURI I

Correct Answer :-
« Education of mentally retarded children/ AFRI® Y aTc® ot Riem

29) What are the types of motor development?/ f= & 9 91 a1 fohare® faera
P UPR 82

1. Gross movement/ @E’Tﬁlﬁw

2. Fine motor skill/ g&H fharas Hiera

3. Gross movement & fine motor skill/ a@wﬁrﬁfﬁﬁaﬁw
4. All of the above/ ItRlad gt

Correct Answer :-

« Gross movement & fine motor skill/ WWW



30) Which is the important part of Human teeth?/ UTHd &id T W™ YT I I

e

1. Enamel/ Qﬁtlﬂ
2. Keratin/ ffeq
3. Tolin/ @M

4. Dentin/ S

Correct Answer :-

. Dentin/ &9

31) Transmission of Traits from parents to off springs/ ATdT fUdr ¥ <11 &I
DI AT 0T T gl 82

1. Character/ Ia
2. Heredity/ d=IIIshH
3. Environment/ dIdrdxul

4, Habit/ 3flqd

Correct Answer :-

« Heredity/ =TI H

32) What is the Respiration rate in new born?/ aurd 1]  Tard 7fa fora= gidt

2

1. 80-100 Per Minute/ 80-100 Ufd fife
2. 35-50 Per Minute/ 35-50 Wfd fifie

3. 40-45 Per Minute/ 40-45 ufd firfae

4. 50-60 Per Minute/ 50-60 Ufd fafde

Correct Answer :-
« 35-50 Per Minute/ 35-50 Ufd fafde

33) Which is the method use for educating Hard hearing children/ &% g 1@
TP & ford Uit ot w8 Rreror fafy &+ g2

1. Manual Method/ g% fafy
2. Oral Method, e fafy
3. Sign language Method/ g T fafy



4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SWRIad gt

34) One Ounce Milk give calories/ wsﬁvguﬁ SR U

gl &-

1. 30-40 Calories/ 30-40 PRI

2. 35-45 Calories/ 35-45 HaRt
3. 18-20 Calories/ 18-20 &Rt
4, 37-50 Calories/ 37-50 PR

Correct Answer :-

. 18-20 Calories/ 18-20 daR!

35) Emotions in Children are/ STa®! & HaAT T id &-
1. Absent/ Gﬁ?ﬁ@ﬁ

2. Permanent/ Rﬂ'st

3. Imbalanced/ 3rqfed
4. None of these/ IWRIad H ¥ PIs -Tg!

Correct Answer :-

. Imbalanced/ 3rgferd

36) By which Law of Mendal is Related?/ Avsd &1 foraw fpaa Hefid g2
1. Environment/ dIdraxul

2. Development/ f[d&T

3. Growth/ ?{@

4. Heredity/ d=IIshH

Correct Answer :-

« Heredity/ 9= H

37) According to draver what are the kinds of aesthetic imagination?/ = A

Y TR & I U & HIF I TR 872



1. Artistic Imagination/ ®dATH®D b U]
2. Phantastic Imagination/ A Hed-T

3. Artistic & Phantastic Imagination/ ®dlcHd Ud AAaXT Hedl

4. None of these/ SRIgd & A qﬁ{:rg?f

Correct Answer :-

« Artistic & Phantastic Imagination/ &% Ud AT BT

38) What is the Pulse rate in New born?/ A9SITd @t ATS! i fpasit gl 82
1. 120 per Minute/ 120 ufd fafe

2. 125 per Minute/ 125 9fd fife

3. 130 per Minute/ 130 9fd fafae

4. 135 per Minute/ 135 gfd fafae

Correct Answer :-

« 120 per Minute/ 120 Ufd fafae

39) Indian council of child welfare is related to?/ HRta Y] Heamor afufa fead
Tafia g2

1. International child welfare union/ RIS T dTe HedT0l TY

2. Supplementary Nutrition programme/ WWW

3. Central Social welfare Board/ B0 JHS HedT0 SIS

4. None of these/ SWRIgd H T &Is Tal

Correct Answer :-
« International child welfare union/ STRTSCHT ST HedTUT Y

40) Central Social welfare Board is a organization/ B JHTS
FT 9IS TH TRT 3-

1. Government/ AR
2. Semi government/ &I?;EWIﬂ
3. Private/ UTgdc

4. Independent/ ¥dd

Correct Answer :-



« Semi government/ &Iﬁwrﬁ

41) When did UNICEF Programme for street children started?/ q:—ﬂﬁwam
IHERT = & ford SrfehH e yRY fHar mar?

1. 1992-93 Year
2. 1994-95 Year
3. 1993-94 Year
4. 1995-96 Year
Correct Answer :-
e 1992-93 Year

42) How many kind of physically Handicapped children are?/ RIS sremar o
gad fafi=1 YoR & 91a® I 81d 82

1. Blind children/ 3 STd%

2. Hard Hearing children/ &8 {;J‘,-I:I CINKEINES
3. Crippled children/ 31U dTcih
4. All of the above/ SWRiad I

Correct Answer :-

« All of the above/ SWRidd g+

43) Operant conditioning Theory given by/ UgaT &1 g foea fear ur?
1. Skinner/@ﬂ?

2. Kohler/ ®IgeR

3. Kurt lewins/ CIANICE

4. Pavlov/ LICRIG

Correct Answer :-

« Skinner/R&ER

44) Curiosity reaches maximum level in which stage?/ 59T ugfa foe srawr o
IXH AT W Y5l 82

1. Prenatal/ TTHTaRT
2. Adolescence/ THRTGRI



3. Childhood/ STeTdRIT
4. Adulthood, TIGa=IT

Correct Answer :-

« Childhood/ STcOTaRIT

45) Child Infancy is called:/ AR F AT B FT Hed 82
1. Neonate/ =aoiTd R

2. Zygote/ gddl

3. Babyhood/ ddud

4, Embryo/ YUl

Correct Answer :-

- Neonate/ Jduird fRig]



